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id Main()

Car carl = n¢
carl.Brand
carl.Model = "¢
carl.Year = 2828;

.WriteLine(%$"{carl.Brand} {carl.Model}, ¥ : {carl.vear}");
JMriteLine($"{car2.Brand} {car2.Model}, : {car2.Year}");
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System;

CarCount++;

StartEngine])

sale Writeline( 3" {Brand} engine started

StopEnginel]

onsole Writeline(3"{Brand} =ngine stopped

carl 2 Car § Bramd = “B¥MW", Model =
: { Brand = “Audil®, Model

carl StartEngine();
car?. StopEngimel):
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"¥5", Year = 2821 };
"07*, Year = 2822 };
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ar{string brand, q model,  year)
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Erand = brand;
Model = model;
Year = year;
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Brand = brand;
Model = “"Unknow
Year = J888;
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| Main(])
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Carl = L '‘C-Class®, 2823);
car? = '..'.'.E HyinE21"

onsole Writel ine(3" fearl . Brand} {carl Model}
Console Writeline(5*{card Brand} {car?.Model}
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